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[H 2.14] 201143E SAH S 2tdst FHEE
= N N +4A A=
10%0| 4 ~40%0] 2t 3 0.071 0.071 25
40%0]| 2 ~50%0]| 3t 6 0.143 0.214 45
50%0]| & ~60%0| 3t 13 0.310 0.524 55
60%0]| Ak ~70%0]| Bt 10 0.238 0.762 65
70%0| 4 ~80%0| 8t 6 0.143 0.905 75
80%0| At ~100% 4 0.095 1.000 90
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[H 2.15] 2013 ISU XL AAAHOIE H+H

ol ax ol o | 2AT
A 1 2 3 4|5 |6 |7 |89 |7 | &
Skating Skills 9.50 | 9.25 | 9.25 | 9.00 | 8.75 | 9.50 | 9.25 | 9.25 | 9.00 | 9.19 | 9.21
, | fransition/Linking | g 6 | 925 | 875 | 875 | 850 | 9.25 | 9.00 | 875 | 875 | 889 | 8.89
5 |Footwork
oy Performance/ 10.0 | 10.0 | 9.00 | 9.25 | 8.50 | 9.50 | 9.75 | 9.00 | 9.00 | 9.33 | 9.36
Execution
0
I+ [Choreography/ 1 g 5 | 75 | 9,00 | 9.25 | 850 | 9.00 | 10.0 | 875 | .00 | 9.1 | 9.18
Composition
Interpretation 10.0 | 10.0 | 9.25 [ 9.00 | 8.50 | 9.25 | 10.0 | 9.00 | 9.00 | 9.33 | 9.36
ob |Skating Skills 850 | 875 | 850 | 8.25 | 875 | 850 | 8.50 | 8.75 | 9.00 | 8.61 | 8.61
Transition/Linking | g 55 | 850 | 825 | 8.00 | 8.50 | 8.25 | 800 | 8.25 | 800 | 822 | 821
Al |Footwork
C} |Performance/ 8.50 | 9.00 | 850 | 8.25 | 8.75 | 875 | 8.75 | 850 | 8.50 | 8.61 | 8.61
Execution
D-
Choreography/- 1 9 44 | 900 | 850 | 850 | 875 | 850 | 8.75 | 8.50 | 850 | 8.67 | 8:64
o Composition
Interpretation 850 | 875 | 850 | 850 | 9.00 | 875 | 875 | 825 | 9.00 | 8.67 | 8.68
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® FYUE A=
o n=420|BE2 p=0.25¢ M £=42x0.25=10.5 =
Q, = x(1;) = 52.4
o p=0.75 ¥ Of £=42x0.75=31.5 = @Q; =z, =67.9
o JQR=67.9—52.4=15.5

_94_



®
O

O

1, p=0.25,0.5,0.75 At
H 27t WS A==, OrL|E H[H[Of 2ot
&

At e

= A=

n=420|B2 @ 0 siFkl= }Xl= 41x0.25+1=11.25
TTRIRHQE 128 R] =M SAH L ALO[Of AT H|H Ao 25|

= 0.75X52.4+0.25 X 52.8=952.5

Q,= 31.759HM /X2 0.25x66.7+0.75x67.9=67.6
IQR=67.6—52.5=15.1

_95_



O X8 (box plot)
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O ®E=Z4t(sample variance)
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Xt(sample standard deviation)
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1
s;= 757 U25—60.01)* 3+ (45—60.1)°6+ -~ +(90—60.1)%4}
10550
= — = 25732
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O A & (skewness)
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2&Z g @ERS ne[EE0| 44 EEL0 /AN 2
Y= 7HX= AF=7F /Y b, 2 OEYE I 20 2
U= 7t o Lol 2 £ (positive skewness)E 7tE L=
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QEEZ 18

e e M 20 &2 4 = 29
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H I (kurtosis)
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® FYUE A=
o Yz, =2468.4, Y’ =154975.4, Y jz7 = 10211388,
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O B23 &4 (sample covariance)
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@ =84 7z AR &4 1000/ 57|=
[E 2.16] 22 & 1000|H Xtz HI|

HS T Yy z Ta Ty

1 1900 11 3610000 121 20900
= | 2 1904 11 3625216 121 20944
N : : ; : :

26 2012 9.63 4048144 92.7369 19375.56

ot 50924 266.95 99770832 | 2745.034 522514.2

H % 2 2 22 Xz

1 1928 12.2 3717184 148.84 23521.6
o | 2 1932 11.9 3732624 141.61 22990.8
N : ; : : :

20 2012 10.75 4048144 115.5625 21629

ot 39456 223.67 77851232 | 2505.158 | 441064.2
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A 4= (coefficient of correlation)
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